
  

                                 ا�"ورة ا و��           2���وس ر�	 ا���ض ا� ����������� أ�� ا���
	 ا������                            
   08  -  07                                   1             )'���ة                                     ����� ��ك %$�م ا����ة وا رض 

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  وع ا ول5.ا���ض
1-  �2�3�  ا��9ه�ة ا��8'�� ه� ا�6��5م ��4 ا�
  .3	 ا�I��=�5زم إ�� E�F�A @� ا�CD<  و�Aد A"ار @�ص< ��5: ا�=8$�<.  �=8$> ا م� �:$�� �����3 - 2

3 ->CD1ا� : ��Fا�=
 . ص��P3ت م=��M( �@ �8N ا
=�اء ا�:$�� م���C ص���� ا
=�ا��F :  ا�=8$�<. م�ح$� ا

>CD2ا� : ��"�Q�  . �QUر ص��P3ت م=�C��D مT ��4ب �D4ء ��وي : ا�=8$�<. م�ح$� �
>CD3ا� :��F�Q� �$ا�:$�� :  ا�=8$�<.  م�ح M
  . ��Cن آ=$� مE ا����P3ت @� آ< �VW م�QU Tر A"ار @�ص< @� و

4 - I –    ن�C5م�ح$� ا� M :    �2�3�5م ��4 م�ا� C : ���$( دورة .  

V ا���ح$� 1  ،   ا��G1 �Q9 ا���ح$�  �'�
V 4  ا���Q9 - أ– 5�'� S �Q9�
V ا���ح$�  6   ،  ا��'� G2 .   

3 �'�
V ا���ح$� ا�=��Q"�� ، ا��7�Q9 ا���Q9-     ب�Q9�
V ا���ح$� ا5�������6 �'�
V ا���ح$� ا6
=�ا��F ، ا��'�   
 �Q9�
V ا���ح$� ا�'��F�Q 2         ا��'� .  

6 –'�3�   ) .ADNم^�%�� (  ه� م^�%�� ا�:��M ا�'�وي 3 و����CD��� �1< ا��9ه�ة ا�:$��� ا�
مE آ< م=��W��b��  E�A E م��@�9 @�=	 ا����ل %$� ���ذ مE م�ح$� ا��C5ن �^�%b ا�:�3 ا��را�� �I( S���aل ا��=�ة  -7

 M��(ADN.   
�=�ى ا�:�3 ا��را�� إ�� =��� ا���5م م)Iل ا���ح$� ا�������6 مE  ا�e��5م ��4 ا���2�3 �'��< آ< صE% �P�3 أ)�d و ���

�� ��g ا�:�3 ا��را�� و ا���W�> �$:$�� ا م ����E م=Q� �5م �'��د )$�=�ن �'=�ن�ا�6 ���Q� "'% ���=��� و E�5و��.  
  . مE ا�=��ل ا�:�3 ا��را�� مE )$�� أم إ�� )$�� �'M i و SوهhCا ��EC ا��9ه���ن 

  ـــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

  

  

8��ل ا������  %'" ا ARNm�:2 �8" إ��kز م==���� – 2=
�==����ت5ص ا�Imث و ��� ����W�  ARNm �=	 آ=��� م==���� ا ح��ض ا م�'�� ا�
  :ا�Imث

  

3 - "k� أ و ب E��:Dر�� ��3=�" ا���م "'% : 

- Eا�3�3=�"ان م Iن آ�C=� 6 ��'ض أم���   أح
�� @� k� q��� Lysine" %'" ا�p:D أ ح�o أم�'�m=3'�ء ا���o ا م�'�  �=�Cن ا�3�3=�"ان مg�� E �5$5< ا ح��ض ا م�'�� ��
-أ  '�� 

   .g��Arginine ا����k� T" %'" ا�p:D ب ح�o أم�'� r)� وه� 
   : %'" م��ر�� ��3=�" ا�E��:D أ و ت �k"  -ب
- Eا�3�3=�"ان م Iن آ�C=� 6 ��'أم�ض أم� .  
�� @� k� q��� Lysine" %'" ا�p:D أ ح�o أم�'���4 ��
=m'�ء ا���o ا م�'�   �=�Cن ا�3�3=�"ان مg�� E �5$5< ا ح��ض ا م�'-'�� 

   .g��Asparagine ا����k� T" %'" ا�p:D ب ح�o أم�'� r)� وه� 
  
  . ه� ا���Wة ت و ب %'" ا�ADN E��:D ا��9ه�ة ا��s5و�� %�QU Eر -4
  
5- ��I% روس"�  : �2ح ذ�u" . ��و��E–ص�� "  ��3ز ا���mل ا�
     -Eدي  �"�'� ��و���% E���5ا���Pا� Eا��3و�� ���o أم�'� r)� 4 أو3ا
=3"ال ح�o أم�'�  (  %�دي ��W8 ص�� %�د�� ��'��  ( d'% w=�  

  .�و��E و ا���� E�� ��I%3 ا�  و ���=��� ه'�ك– م�ض ا��C5ي –       �QUر ص�� 
 ��I8م�ر�� "    ا�– Eو���� . "  

 V��� ر����م "'%    ADN�ا��=�C	 @� أ�E���5 ��4 %�دي �Iحx ا
=3"ال V��$�ADN  ا��3و��E أ�E���5 %�دي =�C	 @� ا�
%��"E��م�� �=d'% w ��آ�V أ�E���5 م��P و ���=��� ��E�� ��I% "A ا���ر�� و ��5=�ز�E  ���%"ة ا3 ا�����m مE ا����Im ة ا�=�

 Eا��3و��.  
  

  

  


